= o
A & 0l & AF 2 E A A
20229 = = 0lat LBl AL
A R =y
M WHEMEOIATA
9l FOIME BOIKZ CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
AL 34,831,431 23,048,867 11,782,564
s 173,000
< 3,466,517
s 31,191,914
WESTHEHAZ S 1,220,001 1,154,863 65,138
< 5,100
[ia 1,214,901
FME HANS 1,149,321 1,093,183 56,138
SHESQE - 128 2el 1,149,321 1,093, 183 56,138
201 et 327,024 327,024 0
02 2324l 327,024 327,024 0
o0z22= % HMA 307,224
OE¢ts 2 IJt28 &MIIR3 302,760
OJEs A Ste= 372,000 128 4,464
O A& EHl Xl 19,800
ONzsSEAS FHMHAAY SN2+
1,650,000& = 12& 19,800
401 A& HIZ 201 I 822,297 766, 159 56,138
01 A& HI 822,297 766, 159 56,138
ONHEE ARt Bets AT ALY 20,000
O=sHEZUHSHEX 1,000,000& 300 300,000
OL=IIZ2S A 67,500
O:=I=2suH 1,500,000& 355 52,500
OL:NHesI+ WA 500,000& x30S 15,000
ONZSEH AHHXE 9,090& *1,6505 14,999
OJzs - 2ets EFE FH
10,000& *7,000H £ 70,000
OJMNZ2E - 22tE FHl & RXNE=>
36,7013 %9,5315 349,798
Kl ot==2t 2 62,680 51,680 11,000
< 5,100
s 57,580
Aot =22 A 2te| 17,680 6,680 11,000
201 et Ayl 5,680 6,680 £1,000
01 AP 2teltl 2,000 3,000 A 1,000
OXIcts =E T A & 22 2,000
02 =224l 3,680 3,680 0
OXctes EX2=L MM3U2
5,000 230 2128 1,380
OXicte EX2=2 AIZZH S X 22/
100,000 #2304 2 2,300
401 A& HIZ 201 I 12,000 0 12,000
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WEEMEOAT Y
stz

= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
01 A& HI 12,000 0 12,000
OXt+=2Bx&=L AIAH SEMIAS
3,000,000 =44 2~ 12,000
Aot & HXS 22l (EX) 20,000 20,000 0
< 5,100
s 14,900
401 Al HI & 28I 20,000 20,000 0
< 5,100
s 14,900
01 A& HI 20,000 20,000 0
OXIGte OIEAEHEZA & SX3 FA45TH 20,000
< 5,100
[ia 14,900
Kot & Sxs 22l (KA) 25,000 25,000 0
401 Al Bl 28I 25,000 25,000 0
01 A& HI 25,000 25,000 0
OYxIZ FASA(XAH) ¥ FEITA
2,500,000 1004 2 25,000
IR 22 8,000 10,000 A 2,000
2K MHa 22 8,000 10,000 A 2,000
201 L2l 8,000 10,000 A 2,000
01 At 22l 8,000 10,000 A 2,000
ORZRML 5, BW222 S 8,000
T=ZH4 15,028,196 8,394,939 6,633,257
as 173,000
< 456,417
e 14,398,779
2RI 2 8,756,196 4,433,939 4,322,257
< 456,417
e 8,299,779
T2 RA 2el 77,295 77,458 A 163
201 LB-2d| 30,195 38,358 A8,163
01 At 2t 2l 15,580 17,800 N2,220
OBt~ 14,460
OLzE+E2 HYEF 7Y 5,000
OCTZUMUAE U AHEE 7 4,000
OEzZEsd 285 ¢ 300,000& »13H 3,900
OZ2E+¥ HA4ZR Al
8,000 x13& 154 1,560
ozdg=+¢ 70,0003 x4H x43] 1,120
02 22224l 14,615 20,558 25,943
O" =zl 8,355
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OZXEXM(Z25tE,0tAR2) 2
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O1nd uWs0tE L JH ALY 30,000
O S0t 2 FHIAMY 30,000
O &s0t2 A2 HUIAMY 35,000
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EXN: A4
MM C2HA
e S 2822 (2 &HH)
- RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OJlEt=2 EXBAMH (EA=, 95, 7Y, 2
N g2, 252, Hils S) 500,000
O0ot0] 232022 AUT=Z SHILEAZA 650,000
OdlY e iis2 MY ST AAZA 200,000
O 2AI|0ts NYET =2 SHILEZA 20,000
O1NA JIE0tS MUEZ SHILEH DA 20,000
O0tY 2T 14546 SHA sHEA AX 200,000
Ol sEHOIS T2 SHILHEZA 200,000
O3 A0S 42 HUIZ2A 100,000
Osol =E=0ts o+ SZEHZAL 120,000
O, sH=E=EZ, JIEBIE2 ol A AX (04
& Ol g AW, Soll 2= S) 350,000
03 Al 204 Y| 8,000 6,000 2,000
OA&ES0idl 8,000
St S Al&el 550,000 400,000 150,000
1T AIEHZ 2L 550,000 400,000 150,000
01 Al&H| 550,000 400,000 150,000
OntsrZ 8 X 2el 550,000
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04 JI2ZtHIZ22NEES 13,205 21,423 N8,218
OWESE XA 22 13,205
(OPIE=3=| 96,000 21 A +1L «6H 12,096
oegedg=2 12,096,000 5% 605
O2+AH] 4 000 *210 A~ x12L *x6H 504
2 ZXE F 50,000 30,000 20,000
401 Al HI L 2 0HHI 50,000 30,000 20,000
01 Al& H| 50,000 30,000 20,000
o2 TA& X 10,000,000 50 A~ 50,000
2 F| LA 45,000 30,000 15,000
201 gEt24y| 45,000 30,000 15,000
01 AP 22| H| 45,000 30,000 15,000
o=z &dHl =) 45,000
2NR)NERY 300,000 150,000 150,000
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01 Al H 200,000 150,000 50,000
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= 6,240
OoOBdxE 136,900& x8H »12& 13,143
== 7,886
= 5,257
oerg syl 50,000& «13¥ x12& 7,800
= 4,680
= 3,120
OY & s0ty| 1,550,000 x 13 =2 & 40,300
= 24,180
= 16,120
Odxsa4+<
2,750,000 /226x8*13H x 12 15,186
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= 6,075
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= 1,440
o8¢ 40,000 x6H x12& 2,880
< 1,728
= 1,152
ONZeRRLY
2,750,000 /226%1.5%15A| 2+« 132« 12&] 42,711
< 25,626
= 17,085
304 Hd=28<=2S 60,216 0 60,216
= 36,130
= 24,086
o1aZeg=2 26,520 0 26,520
O=20dHZ2EE 2432 170,000 13 x12& 26,520
=} 15,912
= 10,608
02 2o1AH2AdBE 2 24,180 0 24,180
O=2oAHAUEE 22 155,000& 13 x12& 24,180
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OfI8wWE MIE 1,158,000
OY9 24y A MILE B A 838,000
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Osoll XX A8 HEZ2A 30,000
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ALY 2,888,000 1,055,000 1,833,000
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O A 2,880,000
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A R =y
HM: c2HH
Cel: sHESZ MY (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
sSHEEZ 722 430,000 400,000 30,000
401 Al HI K 201 I 430,000 400,000 30,000
01 A& Bl 430,000 400,000 30,000
O=sHEE=Z HX 22 430,000
O=sHEZZ(&4H101) 2 M PEEMB
Ak (L=20Km) 100,000
OsHEZZ(U01201) 2 s E2E7E
HI S At 100,000
OsHEZZ(SH301) 2 1A OtAZHNY
L 1 3 Ab(L=3.5km) 130,000
OsHEZZ(ZE101) 2 2 HHAEE
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AsXtus2el &AL 546,000 1,100,000 A 554,000
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401 A& HIZ 201 Y| 200,000 200,000 0
01 A& HI 200,000 200,000 0
O0eol ¥ Lo B33 SAA2AY 200,000
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e 173,000
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Og2 24 Z22Y 80,000
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OLnd AR 0ts M 0/HEZ 104,000
as 52,000
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=&&d3 XA 10,164,000 6,209,000 3,955,000
< 2,220,000
s 7,944,000
=D BHE I 10,004,000 6,149,000 3,855,000
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